DATE

BY

IRT, OF WAY CHECKED

ALIGNMENT CHECKED
[CADD FILE NAME

ISURVEYED

PLOTTED

NOTE BOOK

PLAN
NO.

$SDATESS
=DATE-TIME=
*DGN-SPECs
=REF-

Bl secrion CoNTY | JOTAL|SHEET
SCADA PANEL DIGITAL INPUTS SCADA PANEL DIGITAL INPUTS SCADA PANEL DIGITAL INPUTS 70 | a7 st e | 17 | 4
TERMINAL BLOCK 1BDI TERMINAL BLOCK 1801 TERMINAL BLOCK TBDI :
TERM ®|WIRE ® [ ORIGINATITION DESCRIPTION OF INPUTS [TERM *|WIRE * | ORIGINATIION DESCRIPTION OF INPUTS TERM °|WIRE * | ORIGINATIION DESCRIPTION OF INPUTS FED. R0 DisT, . Juunois [FED. AID PROJECT
0 SO CP-DO-398 | ALARM _ACKNOWLEDGE 548 48 M6-15A MAIN PUMP 6 HOA IN AUTO a7 M14-2D DRAIN PUMP 2 RUNNING
0C 0C CP-DO-398A| ALARM _ACKNOWLEDGE | S48C | S48C M6-15 MAIN PUMP_6 HOA IN AUTO 97C € [MI4-2E DRAIN PUMP_2 RUNNING SCADA PANEL DIGITAL INPUTS
< MI-0 MAIN PUMP | BREAKER OPEN 549 49 ME-16 MAIN PUMP 6 HOA IN OFF 98 M14-5A DRAIN PUMP 2 HI TEMP/MOIST. - TERMINAL BLOCK 18DI
C [ MI-0A MAIN PUMP | BREAKER OPEN 49C | S49C M6-15 MAIN PUMP 6 HOA IN OFF | S98C € [Mi14-5B DRAIN PUMP 2 HI TEMP/MOIST, TERM_®[WIRE * [ORIGINATIION DESCRIPTION OF INPUTS
2 M1-1D MAIN PUMP 1 RUNNING 50 50 M6-22A MAIN PUMP_6 FAIL 99 M14-2D FLASHING WATER PUMP RUNNING | S143 5143 CB- CONTROL BLDG INTRUSION
C 2C Mi- MAIN PUMP 1 RUNNING 50C 50C M6-22B MAIN PUMP 6 FAIL 99C C M14-2E FLASHING WATER PUMP RUNNING 43C 43C_ [CB-1A CONTROL BLDG INTRUSION
3 3 ML-15A MAIN PUMP 1 HOA IN AUTO 5 5 M6-57 MAIN PUMP 6 MOTOR WDG HI-TEMP 00 -2 CPDO-201 WETWELL LVL BELOW FLOAT EL. 380.5° 44 44 CB-2 CONTROL BLDG KEY SWITCH BYPASS
3C 3C M1-15 MAIN PUMP | HOA IN AUTO S1C_| S5I1C M6-5TA MAIN PUMP_6 MOTOR WDG HI-TEMP 00C| CP-201A [CPDO-201A | WETWELL LVL BELOW FLOAT EL. 380.5 S144C| S144C__ | CB-2A CONTROL BLDG KEY SWITCH BYPASS
4 sS4 MI-16 MAIN PUMP 1 HOA IN OFF 52 | S5 MG-5 MAIN PUMP_6 MOTOR HI-MOISTURE 01 | CP-20Z | CPD0-202 WETWELL LVL BELOW FLOAT EL. 379.5° S145 45 UPS-1 UPS POWER FEEDER FAIL
4C_| s4cC MI-15 MAIN PUMP 1 HOA IN OFF 52C | S52C M6-58A MAIN PUMP_6 MOTOR HI-MOISTURE 01C | CP-202A | CPDO-202A | WETWELL LVL BELOW FLOAT EL. 379,57 S145C| S145C | UPS-2 UPS POWER FEEDER FAIL
5 5 M1-22A MAIN PUMP 1 FAIL 53 553 M6-5 MAIN PUMP 6 BEARING HI-TEMP 02 CP-203 [ CPDO-203 WETWELL LVL BELOW FLOAT EL. 378,5" S14¢ 4¢ UPS-3 UPS ALARM
5C 5C M1-228 MAIN PUMP 1 FAIL 53C | $53C M6-59A MAIN PUMP 6 BEARING HI-TEMP 02C| CP-203A |CPDO-203A | WETWELL LVL BELOW FLOAT EL, 3785 S146C| S146C  |UPS-4 UPS ALARM
€ € MI-57 MAIN PUMP 1 MOTOR WDG HI-TEMP 52 554 M6-60 MAIN PUMP 6 SEAL LEAK 03 | CP-204 | CPD0O-204 WETWELL LVL BELOW FLOAT EL. 377.5 4 4 CPS-1 24vDC POWER SUPPLY ALARM
S6C 6C M1-57A MAIN PUMP_1 MOTOR WDG HI-TEMP 54C | S54C M6-60A MAIN PUMP 6 SEAL LEAK 03C| CP-204A|CPD0-204A | WETWELL LVL BELOW FLOAT EL. 377.5 SI147C| S147C_ | DCPS-2 24yDC_POWER SUPPLY ALARM
S MI1-5 MAIN_PUMP 1 MOTOR HI-MOISTURE 55 | S55 M7-0 SUMP_PUMP 1 BREAKER OPEN 04 | CP-205 | CPD0-205 WETWELL LVL BELOW FLOAT EL. 377.0° q S14 TSH-1 CONTROL BUILDING HIGH TEMP ALARM
S7C 7C M1-58A MAIN PUMP 1 MOTOR HI-MOISTURE B55C | S55C M7-0A UMP_PUMP | BREAKER OPEN 0AC| CP-205A | CPDO-205A | WETWELL LVL BELOW FLOAT EL, 377.0° 48C| S148C | TSH-2 CONTROL BUILDING HIGH TEMP ALARM
S8 M1-5 MAIN_PUMP 1 BEARING HI-TEMP 56 $56 M7-1D UMP_PUMP_1_RUNNING 05 | CP-206 |CPD0-206 WETWELL LVL BELOW FLOAT EL. 376.5° 514 4 CPP- CONTROL POWER PANEL TVSS ALARM
B8C C M1-59A MAIN PUMP 1 BEARING RI-TEMP 56C | S56C M7-1E UMP_PUMP_1 RUNNING 05C| CP-206A | CPDO-206A | WETWELL LVL BELOW FLOAT EL, 376.5° 5149C| S149C [ CPP-2 CONTROL POWER PANEL TVSS ALARM
] 3 M1-60 MAIN PUMP 1 SEAL LEAK 57 57 M7-15A UMP_PUMP 1 HOA IN AUTO 06 | CP-20T |CPD0-207 | WETWELL LVL BELOW FLOAT EL. 376.0°
S9C C M1-60A MAIN PUMP 1 SEAL LEAK 57C | S57C M7- UMP_PUMP | HOA IN AUTO 06C| CP-207A|CPDO-207A | WETWELL LVL BELOW FLOAT EL, 376.0° SCADA PANEL DIGITAL OUTPUTS
S10 0 M2- MAIN PUMP 2 BREAKER OPEN 558 S8 M7- UMP PUMP | HOA IN OFF 07 | CP-208 |CPD0-208 | WETWELL LVL BELOW FLOAT EL. 375.5 TERMINAL BLOCK T1BDO
S10C 0C M2-0A MAIN PUMP_2 BREAKER OPEN 58C | S58C M7- UMP_PUMP 1 HOA IN OFF Q7C| CP-208A|CPD0-208A | WETWELL LVL BELOW FLOAT EL. 3755 TERM ®|WIRE ® |DESTINATION DESCRIPTION OF OUTPUTS
S S M2-1D MAIN PUMP 2 RUNNING 5 59 M7-22A UMP PUMP | FAIL $108 | CP-209 |CPDO-20! WETWELL LVL BELOW FLOAT EL. 375.0° §149 | S86 MI3-5A
€ [ suC M2-1E MAIN PUMP_2 RUNNING $9C | S59C M7-228 UMP_PUMP 1 FAIL S108C| CP-209A | CPDO-209A | WETWELL LVL BELOW FLOAT EL. 375.0° S149C| S86C | MI13-SB
2 M2-15A MAIN PUMP 2 HOA IN AUTO 60 | S60 M7-50 UMP_PUMP | MOTOR WDG HI-TEMP S109 | CP-210 | CPDO-210 WETWELL LVL BELOW FLOAT EL. 374.5° P MI-7 MI1-7 MAIN_PUMP
2C C M2-15 MAIN PUMP_2 HOA IN AUTO 60C | S60C M7-50A UMP_PUMP | MOTOR WDG HI-TEMP 09C| CP-210A [CPDO-210A | WETWELL LVL BELOW FLOAT EL. 374,5 PIX MI-14 [ MI-14 MAIN_PUMP
3 [ s13 M2-16 MAIN PUMP 2 HOA IN OFF 6 S M7-5 UMP_PUMP | MOTOR HI-MOISTURE 0 | CP- CPDO-2 WETWELL LVL BELOW FLOAT EL, 374.0° P2 MZ2-7__ [ M2-7 MAIN PUMP
3C 3C M2-15 MAIN PUMP_2 HOA IN OFF C C M7-51A UMP_PUMP 1 MOTOR HI-MOISTURE 0C| CP-211A |CPDO-211A | WETWELL LVL BELOW FLOAT EL. 374.0° P2X_| M2-14__|M2-14 MAIN_PUMP
514 514 M2-22A MAIN PUMP 2 FAIL 562 M7-5 UMP PUMP_| BEARING HI-TEMP CP-212_|CPDO-212 WETWELL LVL BELOW FLOAT EL. 373.5' P3 M3-7 [ M3-7 MAIN_PUMP
ST4C aCc M2-228 MAIN PUMP 2 FAIL C 52C M7-52A SUMP_PUMP 1 BEARING HI-TEMP C | CP-212A [CPD0-212A | WETWELL LVL BELOW FLOAT EL. 373.5 P3X_| M3-14_ |M3-14 MAIN_PUMP
S15 5 M2-57 MAIN_PUMP 2 MOTOR WDG HI-TEMP 3 63 M8-0 UMP_PUMP | BREAKER OPEN ? | CP-213 | CPD0-213 WETWELL LVL BELOW FLOAT EL. 373.0° P4 MA-T__ [M4-7 MAIN_PUMP
C C M2-57A MAIN PUMP 2 MOTOR WDG HI-TEMP 3C 3C M8-0A UMP_PUMP_| BREAKER OPEN C | CP-213A | CPDO-213A | WETWELL LVL BELOW FLOAT EL. 373.0° PAX | M4-14__|M4-14 MAIN_PUMP
€ M2- MAIN PUMP 2 MOTOR HI-MOISTURE 4 M8- UMP_PUMP | RUNNING 5113 | CP-214__| CPDO-214 WETWELL LVL BELOW FLOAT EL, 372.0° P M5-7 M5-7 MAIN_PUMP
6C C M2-58A MAIN PUMP 2 MOTOR HI-MOISTURE 4c 4C M8~ SUMP_PUMP 1 RUNNING S113C | CP-214A | CPDO-214A | WETWELL LVL BELOW FLOAT EL. 372.0° PSX M5-14 | M5-14 MAIN_PUMP
S S M2-5 MAIN PUMP_2 BEARING HI-TEMP 5 5 M8-15A SUMP_PUMP | HOA IN AUTO 4 | CP-215 | CPDO-215 WETWELL LVL BELOW FLOAT EL, 3715 PE M6=7 M6-7 MAIN_PUMP
S17C_| S17C M2-59A MAIN PUMP 2 BEARING HI-TEMP 5C 5C M8-15 SUMP_PUMP 1 HOA IN_AUTO 4C | CP-215A |CPDO-215A | WETWELL LVL BELOW FLOAT EL. 3715 P6X | M6-14 | M6-14 MAIN_PUMP
S M2-60 MAIN PUMP 2 SEAL LEAK € S66 M8-16 SUMP_PUMP_1 HOA IN OFF N6 | CP-216 | CPDO-2I€ WETWELL LVL BELOW FLOAT EL. 371.0° P M7-7 _ [MT-7 SUMP_PUMP
C [ S18C M2-60A MAIN PUMP 2 SEAL LEAK 6C | SB6C M8-15 SUMP_PUMP [ HOA IN OFF 5C | CP-216A | CPDO-216A | WETWELL LVL BELOW FLOAT EL. 37L.0° PTX | M7-14__|M7-14 SUMP_PUMP
3 M3-0 MAIN PUMP 3 BREAKER OPEN 7 M8-22A SUMP_PUMP_2 FAIL 6 | CP-217 |CPDO-211 WETWELL LVL BELOW FLOAT EL, 370.5 PB M8-7 | M8-7 SUMP_PUMP
9C [ S19C M3-0A MAIN PUMP 3 BREAKER OPEN 7C 7C_ [MB-22B UMP_PUMP 2 FAIL 6C | CP-217A | CPDO-217A | WETWELL LVL BELOW FLOAT EL. 370.5° P8X_| M8-84 |MB-84 SUMP_PUMP 2
0 520 M3-1D MA[N PUMP_3 RUNNING 8 8 M8-50 UMP_PUMP_2 MOTOR WDG HI-TEMP CP-218 | CPDO-21 WETWELL LVL BELOW FLOAT EL. 369.5° P M9-2 [ M9-2 MIXER 1 CALL
0C_|_$20C M3-1E MAIN PUMP_3 RUNNING C 8C  [M8-50A UMP_PUMP 2 MOTOR WDG HI-TEMP 7C | CP-218A |CPDO-218A | WETWELL LVL BELOW FLOAT EL, 369.5 PIX_| M9-9  |M9- MIXER 1 CAL
52 M3-154 MAIN PUMP_3 HOA IN AUTO S M8-5 UMP_PUMP 2 MOTOR HI-MOISTURE 8 | CP- CPDO-21 WETWELL LVL BELOW FLOAT EL. 368.5° P10 Mi0-2 | MI0-2 MIXER 2 CALL
C [ s21C M3-15 MAIN PUMP_3 HOA IN AUTO C 9C _ |MB-51A UMP PUMP 2 MOTOR HI-MOISTURE C | CP-219A |CPD0-219A | WETWELL LVL BELOW FLOAT EL. 368.5° PIOX_| M10-9 | MID-9 MIXER 2 CALL
2 52 M3-16 MAIN PUMP 3 HOA IN OFF 0 0 M8-52 UMP_PUMP 2 BEARING HI-TEMP 19 CPDO-2 PUMP_CONTROL CKT_POWER FAIL P M2 | MII-2 MIXER 3 CALL
522C | S22C M3-15 MAIN PUMP_3 HOA IN OFF 70C | S70C  |M8-52A MP PUMP 2 BEARING HI-TEMP C 19C_ [CPDO-2A PUMP_CONTROL CKT_POWER FAIL PIIX_ | MI1-9 _ [MII-9 MIXER 3 CALL
s23 3 M3-22A MAIN PUMP 3 FAIL T S M9-0 MIXER 1 BREAKER OPEN S120 | SI120 CPD0-145 MAIN PUMP_FAIL T0 STOP P12 N12- M12-2 MIXER 4 CALL
3C 3C M3-228 MAIN PUMP 3 FAIL C C M9-0A MIXER 1 BREAKER OPEN S120C| S$120C__|CPDO-145A | MAIN PUMP FAIL TO STOP P12X | Mi2- M12- MIXER 4 CALI
§24_[ S M3-5 MAIN PUMP_3 MOTOR WDG HI-TEMP 72 M9-4A MIXER 1 RUNNING S S12 CPDO-391 ALARM_ACKNOWLEDGED P13 M13- M13- DRAIN PUMP 1 LOW LEVEL SHUNDOWN
S24C | S24C M3-57A MAIN PUMP_3 MOTOR WDG HI-TEMP 72C 72C___|M9-4B MIXER | RUNNING S121C | S121C__ | CPDO-391A | ALARM ACKNOWLEDGED P13X | Mi3- M13- DRAIN PUMP 1 LOW LEVEL SHUNDOWN
5 S25 M3-5 MAIN PUMP 3 MOTOR HI-MOISTURE 73 73 M9-11A MIXER 1 HOA IN AUTO |_S122 | Si22 CPD0O-48 COMBUSTIBLE GAS WARNING P14 M14-2 M14- DRAIN PUMP 2 LOW LEVEL SHUNDOWN
| S25C 25C M3-58A MAIN PUMP_3 MOTOR HI-MOISTURE 73C 73C [YER MIXER 1 HOA IN AUTO S122C[ S122C _[CPDO-481A | COMBUSTIBLE GAS WARNING P14X_| MI4-S M14- RAIN PUMP 2 LOW LEVEL SHUNDOWN
S26 | 526 M3-5 MAIN PUMP_ 3 BEARING HI-TEMP S74 74 M9-12 MIXER | HOA IN OFF S123 | S123 CPD0-482 | COMBUSTIBLE GAS ALARM P15 CP- CPDI- LEAD PUMP CALL
6C | _S26C M3-59A MAIN PUMP 3 BEARING HI-TEMP 74C | S74C__ | M9- MIXER 1 HOA IN OFF 23C 3C__|CPDO-482A | COMBUSTIBLE GAS ALARM PI5X | CP-181 | CPDI-181 LEAD PUMP CALL
27 Al M3-60 MAIN PUMP 3 SEAL LEAK S75 75 M9-08 MIXER 1 UNDERLOAD 4 4 CPD0-483 | COMBUSTIBLE GAS DETECTOR FALL P1€ CP- CPDI- LAG 1 PUMP CALL
7C | S27C M3-60A MAIN PUMP 3 SEAL LEAK 75C 75C__ [M9-0C MIXER | UNDERLOAD 4C 4C | CPD0-483A | COMBUSTIBLE GAS DETECTOR FAILL P16X_| CP-182 | CPDI-182 LAG 1 PUMP CALL
28 528 M4-0 MAIN PUMP 4 BREAKER OPEN 7€ 7 M9-26A MIXER 1 HI TEMP/MOIST. 5 5 SWGR- UTILITY LINE 1 POWER FAIL P CP- CPDI- LAG 2 PUMP CALL
| S28C | S28C M4-0A MAIN_PUMP 4 BREAKER OPEN T6C | ST6C  [M9-268 MIXER 2 HI TEMP/MOIST, 5C 25C__ | SWGR-IC UTILITY LINE 1 POWER FAIL PITX_| CP-183 | CPDI-183 LAG 2 PUMP CALL
529 29 M4-1D MAIN PUMP_4_RUNNING 7 57 MI10- MIXER 2 BREAKER OPEN € 1 SWGR-2 UTILITY LINE 1 TVSS ALARM P CP- CPDI- LAG 3 PUMP CALL
29C | S29C M4-1E MAIN_PUMP_4_RUNNING 71C TIC__ |MIO-0A MIXER 2 BREAKER OPEN 6C| S126C WGR-2C UTILITY LINE | TVSS ALARM P18BX | CP-184 | CPDI-184 LAG 3 PUMP CALL
3 3 M4-35A MAIN _PUMP_4_HOA IN AUTO 7 7 MI10-4A MIXER UNNING 2 WGR-3 UTILITY LINE 1 BREAKER CLOSED P CP- CPDI- LAG 4 PUMP CALL
30C | S30C M4-35 MAIN PUMP 4 HOA IN AUTO 78C 78C___|M10-4B MIXER 2 RUNNING €| S127C WGR-3C UTILITY LINE 1 BREAKER CLOSED P19X | CP-185_| CPDI-185 LAG 4 PUMP CALL
31 3 M4-36A MAIN PUMP 4 HOA IN OFF 7 7 M10-11A MIXER 2 HOA IN AUTQ 2¢ Z WGR-4 UTILITY LINE 2 POWER FAIL P20 | CP- CPDI- LAG 5 PUMP CALL
31C_| S31C M4-35 MAIN PUMP 4 HOA IN OFF 579C L MIXER 2 HOA IN AUTO 28C| S128C WGR-4C UTILITY LINE 2 POWER FAIL P20X | CP-186 | CPDI-186 LAC 5 PUMP CALL
532 3 M4-22A MAIN PUMP 4 FAIL 80 80 M10-12 MIXER 2 HOA IN OFF 29 2 WGR-5 UTILITY LINE 2 TVSS ALARM P CP- CPDI-1 LAED SUMP PUMP CALL
32€C | S32C M4-22B MAIN PUMP_4 FAIL 80C | SBOC [ M1O-11 MIXER 2 HOA IN OFF 29C| S128C WGR-5C UTILITY LINE 2 TVSS ALARM P21X_| CP-187 | CPDI-187 LAED SUMP PUMP CALL
S33 | $33 M4-57 MAIN PUMP_4 MOTOR WDG HI-TEMP M10-08 MIXER 2 UNDERLOAD 30 30 WGR-¢ UTILITY LINE 2 BREAKER CLOSED P22 | CP- CPDI- LAG SUMP PUMP CALL
$33C | S33C M4-57A MAIN PUMP_ 4 MOTOR WDG HI-TEMP S8IC C M16-0C MIXER 2 UNDERLOAD 30C| S130C WGR-6C UTILITY LINE 2 BREAKER CLOSED P22X | CP-188 | CPDI-188 LAG SUMP_PUMP CALL
34 | s34 M4-5 MAIN PUMP_4 MOTOR_HI-MOISTURE S82 2 MI0-26A MIXER 2 HI TEMP/MOIST. 3 3 WGR- BUS TIE 1 BREAKER CLOSED P23 CP- CPDI- MIXER CALL
34C | S34C M4-58A MAIN PUMP_4 MOTOR RI-MOISTURE S82C 2C [M10-268 MIXER 2 HI TEMP/MOIST. S131C | S131C WGR-7C BUS TIE 1 BREAKER CLOSED P23X | CP-189 | CPDI-18! MIXER CALL
| S3 S35 M4-5 MAIN PUMP_4 BEARING HI-TEMP MI1-0 MIXER 3 BREAKER OPEN 513 S13 WGR-8 BUS TIE 2 BREAKER CLOSED P24 CP-376 | CPDI-371 ALARM_ACKNOWLEDGE
35C | S35C M4-59A MAIN PUMP 4 BEARING HI-TEMP C c MI1-0A MIXER 3 BREAKER OPEN S131C 31C WGR-B8C BUS TIE 2 BREAKER CLOSED P24X | CP-376A| CPDI-376A | ALARM ACKNOWLEDGE
36 | S3 M4-60 MAIN PUMP 4 SEAL LEAK - [ Mi1-4A MIXER 3 RUNNING 32 32 WGR-9 GENERATOR BREAKER CLOSED P25 | CP-373 |CPDI-373 DISPATCHER'S PANEL COMMUNICATION FAIL
36C | S36C M4-60A MAIN PUMP 4 SEAL LEAK S82C 2C_ [M1I-4B MIXER 3 RUNNING 32C] S132C WGR-9C GENERATOR BREAKER CLOSED P25X | CP-375 | CPDI-375 DISPATCHER'S PANEL COMMUNICATION FAIL
37 | S3 M5-0 MAIN PUMP 5 BREAKER OPEN 383 S83 MI1-11A MIXER 3 HOA IN AUTO 33 | 3133 GEN- GENERATOR RUNNING P26 CP-5 €PDI-5 ENABLE RTU-1 QURPUT
S37C | S31C M5-0A MAIN PUMP 5 BREAKER OPEN S83C | S83C__ Iwmll- MIXER 3 HOA IN AUTO 33C| S133C_ | GEN-IC GENERATOR RUNNING P26X | CP-11__ | CPDI-1I ENABLE RTU-1 OQURPUT
S38 | 538 M5-1E MAIN PUMP 5 RUNNING 4 MIT-12 MIXER 3 HOA IN OFF 32 S132 GEN-. GENERATOR ALARM
S38C | S38C M5-1D MAIN PUMP_5 RUNNING 4C 4C MI1- MIXER 3 HOA IN OFF 32¢C 32C | GEN-2C GENERATOR ALARM SCADA PANEL ANALOG INPUTS
| 539 39 M5-15A MAIN PUMP 5 HOA [N AUTO | S85 85 M11-0B MIXER 3 UNDERLOAD 33 | 5133 GEN-3 GENERATOR DC POWER FAILURE TERMINAL BLOCK TBAI
S39C | S35C M5-15 MAIN PUMP 5 HOA IN AUTO 85C | S85C | M11-0C MIXER 3 UNDERLOAD S133C_SI33C | GEN-3C GENERATOR DC POWER FAILURE TERM */WIRE * | ORIGINATIION DESCRIPTION OF INPUTS
S40 540 M5-16 MAIN PUMP 5 HOA IN OFF 3 S86 M11-26A MIXER 3 H! TEMP/MOIST. S134 S134 COo- GENERATOR ROOM CO ALARM L CP-100 [ CPDO-100 WETWELL LEVEL, ULTRASONIC
S40C | S40C M5-15 MAIN PUMP_5 HOA [N OFF 5C | S86C | M11-26B MIXER 3 HI TEMP/MOIST, | "S134C| S134C_[CO-IC GENERATOR ROOM CO ALARM LIC CP-100C | CPDO-100C | WETWELL LEVEL, ULTRASONIC
S S41 M5-22A MAIN PUMP 5 FAIL M12-0 MIXER 4 BREAKER OPEN "S135 | 5135 €0-2 GENERATOR ROOM CO DETECTOR FAIL LIS SHIELD | CPD0O-1005
S41C | S4iC M5-228 MAIN PUMP 5 FAIL ¢ C M12-0A MIXER 4 BREAKER OPEN 35C| SI35C  [€0-2C GENERATOR ROOM CO DETECTOR FAIL L CP-101_| CPDO-10! WETWELL LEVEL, HYDROSTATIC
S4 42 M5-57 MAIN PUMP_5 MOTOR WDG HI-TEMP 2 M12-4A MIXER 4 RUNNING 3¢ 3¢ MCC1-1 MCC 1 POWER FAILURE L2C | _CP-101C [CPDO-101C | WETWELL LEVEL, HYDROSTATIC
42C | s42C M5-5TA MAIN PUMP_ 5 MOTOR WDG HI-TEMP c 2C___|M12-4B MIXER_4_RUNNING 36C| S136C | MCCI-1C MCC 1 POWER FAILURE L25 | SHIELD |CPDO-101S
43 43 M5-5 MAIN PUMP 5 MOTOR HI-MOISTURE 3 3 MI2-T1A MIXER 4 HOA IN AUTO 3 3 MCC1-2 MCC 1 TVSS ALARM
43C | S43C M5-58A MAIN PUMP 5 MOTOR H -MOE___FgTUﬁE 3C 3C [ Mi2- M x‘E’Eh 4 HOA IN_AUTO [ S137C| SI37C__|MCC1-2C Mgg L\SSSERA(E_M}M "
24 44 M5-5 MAIN PUMP 5 BEARING HI-TEM 2 4 M12- MIXER 4 HOA IN OFF 38 38 MCC2- [ W AILU
44C | S44C_ [M5-59A MAIN PUMP & BEARING HI-TENP S84 aC__ | MI2-] MIXER 4 HOA IN OFF S138C|_SI38C | MCC2- MCC 2 POWER FAILURE E32 ILLINOIS DEPARTMENT OF TRANSPORTATION
545 25 M5-60 MAIN PUMP 5 SEAL LEAK sS85 5 M12-08 MIXER 4 UNDERLOA 39 39 MCC2-2 MCC 2 TVSS ALARM
45C | S45C | M5-60A MAIN PUMP 5 SEAL LEAK 85C 5C___|M12-0C MIXER 4" UNDERLOAD 39C| S139C | MCC2-2C MCC 2 TVSS ALARM REVISTONS BOWMAN AVENUE PUMP STATION
4¢ 4€ M6-0 MAIN PUMP 6 BREAKER OPEN 86 MI2-26A MIXER 4 Al TEMP/MOIST. 40 40 FAP-1 FIRE ALARM NAME DATE REHABILITATION
46C | S46C M6-0A MAIN PUMP 6 BREAKER OPEN | S94C C__ [Mi12-26B MIXER 4 HI TEMP/MOIST. 40C| S140C _|FAP-1A FIRE ALARM
47 54 M6-10 MAIN PUMP_6 RUNNING 95 M13-2D DRAIN PUMP_1_RUNNING 4 4 PS- PUMP_STATION INTRUSION
47C [ 84TC MG MAIN PUMP 6 RUNNING 35C [ S82C [Mi3-2E DRAIN PUMP T RUNNING IS4 TPSTIA PUMP STATION INTRUSION SCADA PANEL
96 € M13-5A DRAIN PUMP 1 HI TEMP/MOIST. S142 42 PS- PUMP_STATION KEY SWITCH BYPASS TERMINAL SCHEDULE
ALVORD, BURDICK & HOWSON. L.L.C 96C 6C MI3-58 DRAIN PUMP 1 HI TEMP/MOIST. $142C 42C [PS-2A PUMP STATION KEY SWITCH BYPASS
' iivl SCALE: AS SHOWN DRAWN BY;
. : 1 LMJ
ENGINEERS CHICAGO
DATE: 09-12-05 CHECKED BYs KCC

PLOT DATE: »DATE-TIME»




